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Fractions (solution)

EXAMPLE 1:Reduce %

Solution:
16 *2_8 +2_ﬂ
20 , 10 , 5
Ans:ﬂ

5

Example 2: Reduce the following fractions to the lowest term.

Solution:
4 2 2 12 2 4 9 ° 3 73 1
Wi —"5 @ %5 ©® 5973
=2 =3 =3 +3
Ans: E Ans: ﬂ Ans:1
5 5 3
24 +2 12 +3 4 +2 2 28 +2 14 +7
36 ., 18 , 6 ., 3 42 21
Ans:E Ans:E
3 3

40 % 20 * 10 °°
60 ., 30 ., 15

(6)

2
3

Ans: E
3



Exercise (1)

4. Reduce the following fractions to the lowest term.

6 2 2 2 1 3 % 1 9 ® 3 % 1
W 5 73 @77 Ox 5 73
+2 +2 +3 +3 +3
Ans:1 Ans: 1 Ans l
3 7
16 2 8 2 4 8 % 4 7 2
(4) ==z (5) =——=7
48 , 14 , 7 12 , 6 ., 3
Ans:i Ans: —
7
9 = 3 20 ° 4 322 167 8
(6) =2 W) == @) ===
12 , 4 25 . 5 6., 18, 9
Ans E Ans:% Ans §
18 +2 9 +3 3 16 =2 8 +2
9) =——=C (10) ==z
30, 15, 5 8., 14 , 7
Ans:§ Ans:i
5 7
=7 +2 +2 +2
ay B4 2t - _12° _6° .3
49 ., 7 40 ., 20, 10, 5
Ans: ﬂ Ans:§
7 5



Solution:

. 111
Q) Solutlon.[g,ﬂ

Lcm of3and4is12.
For 1% fraction, 12+3=14

1_1x4 4
3 3x4 12
Again,

For 2" fraction, 12+4 =3
1 B 1x3 _i
4 4x3 12

Ans: ll - ii
3 4 12 12

. |12
(3)Solution: {E : E}

L.cm of2and5is 10.
For 1% fraction, 10+2=5

1 1x5 5

2 2x5 10

Again,

For 2" fraction, 10 +5=2
2 2x2 4

g  5x2 E

Ans:

2l

Example 1: Convert into fractions with common denominators.

(21
(2)_Solution: [g,ﬂ

L.c.om of 3and 2 is 6.
For 1% fraction, 6+3=2
2 2x2 4
3 3x2 6
Again,
For 2" fraction, 6+2 =3
1 1x3 3
E C2x3 g

Ans: 21 - £§
32 6 6

. 112
(4) Solution: {E’E}

L.c.m of 3and 5 is 15.
For 1% fraction, 15+3=5

E_le_i
3 3x5 15
Again,

For 2" fraction, 15+5=3
2 2x3 6

g - 5x3 E

Ans:

BN




11
(5) Solution: [E,ﬂ

L.cm of2and4is4.
For 1% fraction, 4+2 =2

1 1x2 2
2 2x2 4
Again,

For 2" fraction, 4+4 =1
1 1xl 1
4 4x1 4

Ans: ll - El
2 4 4 4

(7) Solution: [Zi}
9 12

L.ccm of 9and 12is 36 .
For 1% fraction, 36+9=4
7x4 28

O9x4 _£

Again,

For 2" fraction, 36 +12 =3
5 5x3 15

12 12x3 36

7 5 28 15
Ans: | — — || —,—
[9 12} [36 36}

(8) Solution: l,l,l
- |342

L.cmof3,4and2 is 12.
For 1% fraction, 12 +3=4
1 1x4 4

5 T 3x4 E

For 2" fraction, 12+4=3
1 1x3 3

Z C 4x3 E

For 3" fraction, 12+2 =6

(6) Solution: E%}

L.cm of 4and 6is 12

For 1% fraction, 12+4 =3
3 3x3 9
Z_4><3_E

Again,

For 2" fraction, 12 +6 =2
5 5x2 10

6 6x2 12

35 9 10
Ans. | — —|—>| —,—
46 12 12




1 1x6 6

2 2x6 12
ans 22202 8]
3'4'2] "|12'12'12
9) Solution:[l,z,l
2'3'5]

L.cmof2,3and5 is 30.

For 1% fraction, 30 +2 =15
1 1x15 15
2 2x15 30
For 2" fraction, 30 +3=10
2 2x10 20
3 3x10 30
For 3" fraction, 30+5=6
1 1x6 6
5 5x6 30
_[l 2 1} |:15 20 6}
Ans:| =, — = || —=,—,—
235 30 30 30

(10) Solution: §§l
5410

L.c.m of 5,4 and 10 is 20.

For 1% fraction, 20+5=4
3 3x4 12

5 5x4 20

For 2" fraction, 20+4=5
3 3x5 15

4 4x5 20

For 3" fraction, 20+10=2
7 7x2 14

10 10x2 20

5410 20'20'20



Example 2: Convert into fractions with common denominators and compare with the
symbols “<” or 66>” or “=”.

Solution:
5 2 6 11 17

7 5 3
wgl-]l 5 @385 © B @ ;B

Exercise (2)

1. Convert into fractions with common denominators and compare with the symbols
“<” or 66>” or “=”.
Solution:

1 1 3 5
o;E:0IEF: 0 : 0 i 0.+



